50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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“and reverse biased condition.

a.
o (06 Marks)
b.  Explain how Zener diode can be used as a voltage regulator: (06 Marks)
. Write short notes on light.emitting diode and photo coupler. (08 Marks)
Q; o OR i
a. With a neat c1rcu1‘: iagram and waveform explam the working of a centre tapped full wave
rectifier. N S (08 Marks)
b. Explain the operatlon of 7805 ﬁxed IC regulator (06 Marks)
(06 Marks)
. Module-2 .

a. peration of JFET with necessary diagram. (08 Marks)
b. What is SCR? Explain the working of two transistor model of SCR. (08 Marks)

c. A certain JFET has an IGss of —2nA for Vgs=—20V. Determine the input resistance.
. W (04 Marks)
a. | ristics of Silicon cantrolled rectifier. - (05 Marks)
b. Explain the: constructlon and working of N-channel enhancement type MOSFT. (08 Marks)
c. With a neat'eircuit dlagram explaln the working of CMOS inverter. (07 Marks)

Base., Module-3

a. List the ideal characterlstxcs of operational amplifier. (04 Marks)
b. Draw three i 1npu mvertmg summer circuit and derive an expression for its output voltage.
(08 Marks)
€. With a neat circuit dlagram of an inverting operational amplifier, derive an expression for its

voltage gain. (08 Marks)

1of2
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OR
With a neat circuit diagram explain how an opet{atlonal amplifier can be used as a
differentiator. e (06 Marks)
A non inverting operational amplifier has 1nput‘re51stance 10KQ and feedback resistance
60KQ with load resistance 47KQ. Draw the ‘circuit and calculate output voltage, voltage
gam and load current when input voltage 15» . . (08 Marks)

Rr = 100KQ.

(06 Marks)
What is g'fﬁ“ amﬁhﬁer‘? Explain the operation of transistor amplifier circuit. (08 Marks)
Deﬁne feedback amphﬁer Draw and explam the operation of a voltage series feedback
(12 Marks)
(06 Marks)
(06 Marks)
(08 Marks)
Convert the fo 116®ing :
i) FA27D1s = ( ? Jio
i ; (06 Marks)
(08 Marks)
(06 Marks)
(06 Marks)
With a neat block diagram, explam the operatlng prmc1ple of the GSM system. (08 Marks)
What is Multiplexer? Explam the working of 8 : 1 multiplexer. (06 Marks)
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